2-5 |[ELECTRICAL GROUP (WIPER)

NO _ [PART NO PART NAME QT |SOURCE NOTE/COMMENTS CAST
28850-95N BASE, WIPER MOTOR GRISTON
28860-95N BASE, PIVOT GRISTON
28861-95N SPACER PIVOT GRISTON

FRONT WIPER MOTOR COMP

TOMITA/HONDA

16540-S51-003

ROD UNIT A (TO BE MODIFIED SEE 2-5

TOMITA/HONDA

1
2
3
5|76505-SS1-003
1
8

76570-S51-003

PIVOT ASSY B (MODIFIED 28875-95N)

TOMITA/HONDA

9]76610-SS1-003

WIND SHIELD WIPER ARM

TOMITA/HONDA

10{38480-SB2-602

WTPER BLADE L:450

TOMITA/HONDA

11{QFG-16024 GROMMET INDFAST
12|B8/25 BOLT M8 X 1.25 L:25 CAP SCREW INDFAST
13]|BB6/45S BOLT M6 X 1 L:45 (BUTTON SGREW) (SU{ INDFAST
14[NL8 LOCK NUT M8 X 1.25 INDFAST
15[N8H NUT M8 X 1.25 (HALFNUT) INDFAST
16{W8 WASHER M8 INDFAST
17{FJO8 MS ROD END BEARING ROD END (LONDON)
18]B8/30 BOLT M8 X 1.25 L:30(CAP SCREW) INDFAST
19{NL8 LOCK NUT M8 X 1.25 INDFAST
20|W8 WASHER M8 INDFAST
21]28870-95N WIPER LINK GRISTON
22]28875-95N WIPER PIVOT TOMITA AUTO UK

23|WS6

SPRING WASHER M6

[ Y N RN R N N =211 11 S [t [ TCY St g Y R (Y RN F JCY Y CY

INDFAST

ISSUE NO:-3

24TH FEBRUARY 1997




